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2016 International Mathematics Contest (Taiwan)
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( A )1. Calculate the exact value of (379+379)x5007?
(A) 379000 (B) 397000 (C) 558000 (D) 548000
BEHT + 379X 2X500=379 % 1000=379000

( B )2. Tim’sfirst 3 test scores are 87 ~83 and 88, respectively. If he calculates
(518) the average score(FEIFD ) of all 4 tests after the 4™ test and
finds out that the 4™ test is 1 point higher than the average of first three
tests, what is Tim’s 4" test score?

(A) 89 (B) 90 (C)91 (D) 92
BT : BI= R DR (87 +83+88) +3=86
S ORABD AR (86 +1) x4 =348 — ZBIJRANHES 348 -86x3 =907

( C )3. Thereare 5 numbers, which are 8,13,14,17 and 38. We want to divide
them into 2 groups and to make the sum of one group twice(2 18) the

sum of another group. Whet number is in the same group as 13?

(A) 8 (B) 14 (C) 17 (D) 38
BRAT : BR—1BA0A x » x+2x=8+13+14+17+38 *» 3x=90 * x=30 * 13+17=30
R 17 [@—48
( C )4 BRB/IBIE—RE = B | & | me | an | 1e

EERNHGEERS D | BRI EHIE | -3 | -10 | +15| © | 46

HEE - EPBERERER S - EENLES S 833 » IR

MAQEEE <
(A) IR 78 1 (B) REBAENZ2MEZE 50
(C) BAZ 69 (D) BIXZ 73
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BT -
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(A) 83-6=77 (B) 15—(-10) =25
(C) 77-[(-3)+(-10)+15+6]=69 (D) 77+(-3) =74

)5. B0 A SEMESEWECBHEHR E D cC B

A
| | | I 1 : >
BRMIE C 2MFTRE > [RBKA~B~_28 -20 -11 -20 5

D - E LUEATRINEMFAER a~ b~ d e BI NIIFCIISIELE @

(A |a|>|e] (B) b REH
(C) a—b= -7 (D) b~ d BRERH

a=5—(—11)=16 * b=(—2)—(—11)=9 -
d=(—20)—(=11)= —9 » e=(—28)—(—11)= —17

)6. GHUIEE 38 AIEE » MR 1 STHER 38 57 » (RS —XKiE BX
KESRIEFRIUA—BmREEaE  BEE—BE—XKIERE— &
1~4 SREEBYE » EH_B 5~-8 HEBESE-- - KILERE > SR T—
R 1~-4 ROABRE—XEBEHEEHBROR » (—BLREAX O
BNEEHNISY
(A) B/ \BEHHA (B) BThBEH—
(C) BILBZHR (D) EITE2EAT

(38,4) =76, 76+4=19

F2RE 20 X » 1~4 WBRIRE—KEEBBXE : 20+5=4(E)---0 * .".3%(C)

V7. ﬁ—%%¢§ﬁ@ﬁ@ﬁ3ﬂﬁ%mﬁ%t’E%ELM%@R’%L

TESAR  BESBISESROE  MEESEIERESVARIR ¢

0B

4
3 3 3 4
A) 2 B) 3 c) > D) *
w: ®! o0 o
3 3 3 9 3
3-3x(2-2)=3-3x>=3_2_° )
G x4 =357, B8R

A

)8. CBEMBEENER=AF HIH/BFEE |
=

B

At Bl : ZeoPeNEEEd) <
(A) 30 (B) 60

N 6 5 7
(C) 75 (D) BEAEW ” = c
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( B

(12+18)x5
2

CD=18-6=12 ' B="= 75

)9. BREEEDPSHEFE 892 A » BELLERFERD 2% » A LLESIEN0
3% FERABSELLETERY 8 A BISENSEETIZ DA

(A) 204 (B) 240 (C) 686 (D) 700
REFBEX AN TEY A
X+y=892+8
—=x=700 > y=200 > 700x0.98 =686
-0.02x+0.03y=-8

)10. #8EHB1-3 5 - WEHF > LHE ) -
(l

—BIESFERIEE A BILAELERRE - | IESF
RIS NBESFNES B » H¥ER@e Al > X
(A)(57°19) (B)(63:17) (C)(75°19) (D) (81’ 17)

B 250 y IER 9x2—1=17 > x 24Z/ 1+3+5+7+ - +17=81 >

..(D) (81 17)

) 11. B_SEALRTENERSEINE3x+2y =12  [IRBER &
EA62) BEOEQME(x=6)EAE_S ' BENIBEELE
Bfiiz A3 (B4 (5 (D)6

@ 3x+2y=12  @x=6{0A3x+2y=12 N (0,6)
X410 —=18+2y=12 > y=-3 ?\

- ?14(6,2)

y0‘6 B BB R(6,-3) A TN P

0 ;
- (4,0)\
@AB=2-(-3)=5 \B

) 12. CEBEERNBEERIINESX » UDRETEE z

fi] » EEBREEEIRTA y = f(X) =ax+b - §60

BT IR EEEER < =

(A) a=2 .

(B) b=40 20

(C) EBEFFm 20 DEAWE 055352655
(D) BWREL7:50F 9: 20 BBBHELABBE 7R ()

12 JBI¥AZ 140 TTIRE S
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20=30a+b
40=40a+b

S.9:20—7:50=907 , y=2x-40 = y=2x90-40=140

BRAT - { - a=2'b=-40" y=2x-40

( C )13. BB ' £EHF ABCDD * M~ N MEEDRIEAB A - =
- CDBYPES » BRSO AMND DR3P - ZMKRA M — -
F2 - RISF MBCN 2B ~ TR - EBELL B
B:20=7:3'KF:J=5:9 8| :R"=7
(A)1:1 (B)3:5 (C)21:25 (D) 27 : 35
BEMT : (1) 7b+3b:5c+9c’10b:14c’b:%c:gc A 7; ?’Zbarl)
(2) & : R=a-3b:a-5¢=3b: 5c "g - - ;’
=3%c : 5c=2€1 : 5=21: 25 "S¢ 9 ©

( D )14 BEBIBERBHET 100 7T - MABESHERILAE —A 500 JTaIFH
» (BRZIE 1500 TTHEREE - TYIB—ER TS BEBNEHN
(8fif:75) © (A)300 (B)400 (C)799 (D) 800
fEifT - DERER xTT — £BI67 x—100 JT
500<x+( x—100)<1500 — 500<2x—100<1500
600<2x<1600 > 300<x<800 * TJEEH 300 ~ 301 ~ ---3% 799 JT

=
e

( D )15 WEB B~ A~ THEUK

xBOUEBHEE  BUe el T T, F a1
<2 THRETR  Bll=< — o wd
(A) B+Z-T B) B-2-T
C) B+2-2T (D) B-2-27T
AT : B=(a+b)?=a*+2ab+b** S=a% A=b*> T=ab
S R=P-2-2T

( B )16. &Ep qi9REEH Hp>q: &(p+q)*—(p—q)*>29 8l p BIFH/J
BRT< (A3 (B) 4 (C)5 (D) 6
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BT+ (p+a)*—(p—09)*=p*+2pq+9° —(p*—2pq+q°)
(p+a)*—(p—a)* =p*+2pg+q”—(p*-2pg+q*)

Hp=3-qImA=2" pq=3x2=6 (5

=)

%p=4—>q35§7t:3 ’ pq:4x3:12>7%

( B )17. BB - %E%Z%gx . EAGx_6)IES

REE  RE—EER X RAEx+DIE

pg> =7t
o 4 4
o p&R)\=4
s
i

08 R THEMBESR ax® +bx+c » 8

2a-b="7 (A)4

BT - RN ERERE

(B)15 (C)8 (D) 10

4%x(3x—6)—x(2x+1):gx2 —~10x = ax* +bx +c

tb%ﬂ%ﬂ%{—»a:g . b=-10 - c=0

.'.2a—b:2><g—(—10)=5+10=15 " 3E(B)

7
-

- le —

-~

( D )18. f(x)=a(x®*-2x+1)+b(x* —2) + x—5REXIZIFT, » 3K f(100) = ?

1
®

1
® -

5
© -3

AT f(X)=ax? —2ax+a+bx* —2b+x-5

7
© -3

=(@a+b)x* +(-2a+1)x+a—-2b-5RERIDIFTI

) {a+b:0

_2a+41=0--(2)
: s s 7
..f(x)—2 2x( 2) 5

f(100) =~

7
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BT -

( B

BT -

( B

AT -

BT -

) 19. ’>>¢%+ 1%\/%@%@51 T s Jﬂ
FE_{UMERD < L/J\%SI%E& 1414 |1.732 2.23<j
(A) 1.41 (B) 0.14
(C) 14.14 (D) 0.28

J——+—+—:: L xgy%ﬁ L :J§:1414:014L1
24 3 4 \24, 5 5 5/2 10 10

) 20. B—REMRNETCEBL/XKE 8 A1 » RBA 0,
GlEE—IEE - PERRS KB RRIKL X " 7
212 R WEB - BENR h BSHN 8cm

a2° (A)4 (B)5 (C)6 (D)8

BREBEE I

AD = (8 + h)cm

12% +h® — (8 + h)?,

144 +R =64 +16h + K

16h=80 > h=5(cm)

CSE(B)

)21, RBIIER > BEFR 2% (IEFKS <
(A) F£15 (B) 23 (C)'%s% (D) 8435
B 2 7B BUSHEIEBR » FTILURES 2

) 22. B—EIRFEE @ [IX - IR IS SR  fIpRE—BFZ 457 -
PN 7oA - & 20 WEAFINABE—X » BTN —BFE2AE
e (A)25 (B) 30 (C) 36 (D) 40

C 3
45—-20=25
B Kx BIX20%0 4 20220 : 25 5 x=16
By 3720 o] 3225%0
.".20+16=36
18358
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( B )23. BRE 200 (B RERIN=(IIEEHE (—A— > GYLENZE)
BRE 6 REA  BEGRSAZREEH G  BBAEZDBE—R -
EREASHREREZHEE IS FEMERIITEBRRE <
(A) 62 (B) 63 (C) 64 (D) 65

BT TESERS x R HEFER

> x+2+x+1+x+3+2+1<200 |BX| 1 | 2 | 3 | 4 |5 | 6

L I x+2 | x+1 | x | 3 | 2 | 1

N xs63§ » x BA=63

817 : (200-3—2-1-1-2)+3= 63% SERP63E

(A )24 T REBREAPEaBAZIB1IETT B aBAEDE 28T
BaBAEZEDBIEIT - ' Ba,BAEDENEIT BABBB
570 BABEIBRZDETT <

(A) agtat+agt+ - +a, (B) ay+2a,+3ag+ -+ - +na,
(C) apXayXagX -+« ++- Xa, (D) 14243+ -+ +n)xa,

BEMT * 1x(a1—ap)+2x(a,—as)+3(az—as)+4(as—as)+ -+ - +n(a, _1—an)
=a,—a,+2a,—2a3+3a;—3a,+4a,—4as+ -+ -+ +na, _;—na,

=a,t+atastas+ - --- +a,

( B )25. A~B~C DUUAEOXEIERE * tFIBVERW TZTRPIR ©
AEEBEB 709 C1EB6049 ' KD2ED - (BH—EE109)

FE| B | B | B|FE | | B | F | 5| B 2

11234/ 5)6 |7 /|8/9/10 g

e I o I o R o R o I o I = I = I I = R =
AlO| X|O|IX]TO|O|IX | X|X|O]T70
B OO X | X|IX|]O]O|O|X|X |70
CIX|IX|IX|TO|O|X|O|X]O]|X]e60
D O X | X|O|O| X | X|]O|X|X]?

(A) 50 (B) 60 72 (C) 70 B (D) 80
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BT AHIBBATH 7#E 2 AGEIEH 148 - EmMANSERB 4880 H
BREY 6 BANE - 8E (BXRAE) 8) 6 BOURE 6 B1ERE - RILEIE (&
ZME)) 8 4 BB 8 EIERE - BIEERIERR -

SHUEREIEERE 1B (O)F48E (X)) Be6@ (O)FB9@& (X) -
£ C WBRDP LINIIBREESTE 3 BHES DA 60 JAEMBMREEH TS -
RiIE EAER > DEHHEE 12359108 EHMR60-

E| B | B | R|B| B | BB |B|R| A
123|456 |7]|8|9]|10 %
T o O = = s O £ O = O = I I = A
A O XIO|X]TOIO| X | X|X]|]O]T70
B I OO | X | X | X]|]OJO]O|X|X]|T70
C | X | X I X]|]O]O|IX]|]O]|X|O]|X|e60
D O X | X|O|O| X | X]O|X|X]| ? =607
FE O | X | X | X]O]O O | X|X|X
— - 51%ERE (S 257)
1. INFRAIE -
(Bl 1 4 2 5 4 7
2 19 ?
2 3 3 4 5 6

[B#) : 1x2x3—4=2 > 2x3x4-5=19 ’» 4x5x6—7=113-:- --- &
1) HETI? E2D -

(12 1 BARAS 10 0 » 1B 2 B AE#ES 15 )
7 2 5 10 9 2

2 4 8 2 4 10

(2) b LBCESBERE -
(BD 2@+ - x - EEEERIEEL > 10D)
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BT ¢ (1) BBMME  Tx2—4x2=6* 5x8—2x10=20 * 9x4—10x2=16

BER1. (7-1)x2—2-4=6 SR 2. T7+2-4+2-1=6
(5—1)x8—10—2=20 5+10—2+8—1=20
(9—1)x4—2-10=20 9+2-10+4—1=4

@ |5 4 7 5 10 7
23 43 ?
3 2 4 3 2 3

5xX34+4%x2=23 » 7X4+4+5%x3=43 » 10x2+7x3=41

2. R CERRBHAZE » NIWRBIEAFE S » HIGRWUT -

X% +5X + * 1
AT A N W
A

SERSBRIG A ESEEE BT — AR  THAE—PORFHES » NEBER
TREHR - | K (1) FEHHEZE3D < (2 BERA="

BT - DHENEER a

...x2+5x+a:(x_2)+1, 1+7
A 1=2)14+5+(a-1)
x> +5x+a=(x-2)-A+1> 1—2
x* +5x+(@-D)=(x-2)-A 7+(a—1):|7[ﬁ|§[
714

SoA= (X2 +5x+(@a-D) =(x-2)
J.a—1=-14> a= -13

X+7
- 0
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